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So what then does 711 179173 mean — IR TR SR RONY

OVERVIEW

The Xn>92 (regarding the *>°172 *12) began by saying pin 79173 (7P is great).! The
Xnx challenged the Pon™H 003 nXWwan 1°2vn 7"7 from this Xn*>2 and then resolved
the difficulty (because of 11°p11 ¥°7). At this point the X713 now asks 19173 "R XORY'
a1, indicating (seemingly) that this question is being asked since we just
concluded than one may maintain Pon 2"win PHvn; however if would maintain
1"9vn PR, there would be no question. mooIn explains why this is indeed so.
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If we maintain 7om% >"win PYwn PR, it will be properly understood that this
which the Xn»12 taught 57117 79173 is significant, in the sense that -
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Even though there is a concern for a erring 7''>2 who will elevate this family

from >'"w1 to eat P''1717P, nevertheless the Xn»12 teaches that notwithstanding this concern
we do allow them 2"w1 and dismiss the concern of a 7"°2 since they had a 7P for 3"w3; this is the
greatness of 7P —

[mo0In anticipates a difficulty:
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And even though that we are ;7210 79y based on the testimony of one 7v,
without the benefit of fP:m -
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And we are not concerned for a Py 7''92 who may perhaps elevate him from
7PN to N —

mooIn responds:
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"t is great in the sense that (even though we did not allow them to eat 2>w7p, but) we allow them to be 293 R

(even though that o 3"win 1o¥n), since they had a 11 to do so in the 721,

% A proper 7" will not be p"7p% 9¥n since (according to this 7"n) the rule is 121 2"wan oy PX.

? It is apparent from this case of X"y 8"y 71907 PHyn that a 7P is not necessary to allay the fears of a Py 7"3, so

why do we need the 7p117 719173 to allay the fears of a Py 72 in the case of the *7°12 127!

* We are very careful before awarding someone the status of a on1» 175 (we usually require two 2°7v), therefore

there is no concern to allow someone to eat X"V 5"y {7170 [even without a 7ip117], since it is highly unlikely that he

will be elevated on account of his eating 7n17n to become a dnv» 3712, However (if not for the npm 79173) we may

have not permitted the *°12 *12 to be 055 XKW1, out of concern that a P¥Iw 7"°2 may erroneously allow them to eat
1
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At this point the Jwp» (who asked npin 77172 °Xn RPR1) assumed that elevating one
to the status of %01 (to be considered a om1 172) is more stringent, and they
will not err (to elevate from 72170 to 7°011°), as they may err to elevate from "1
to eating p"'77p.]

This explains why 1p1n 719173 is understood according to the 131 1P9yn PR 7"7:
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However now that you presented the reasoning of ¥1%p11 ¥59 (according to the
1ok 2"win Povn 1"'7), on account of which we are not concerned that perhaps

they will elevate them; so -
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Since there will be no error, why do we need the 71211 579173 to allow them to eat *w7p
91237, since no harm can come out of it.’

SUMMARY

TP AT is more readily understandable if we maintain %% X (and do not
mention 77211 ¥™7) for then the 7P allows us to ignore the possibility of a 7""2
1. If however we assume 177> ¥°7 (according to the 1°%v 7"n), there is no need
for 1 179173, since there cannot be a P 7"2.

THINKING IT OVER

1. mooIn states that the reason we are not concerned by X"Y 5"y 712170 1Py that we
will be 10m% 7%yn is because °0mY is more MM (and therefore no concern) than
owIp WP (where there is a concern that we will be 2"win 77291 to WIp DK
ﬂ:m).6 However why are we X"y 5"y 72707 79vn, there is still the concern that we
may be 79¥» him to nam *w7p n?*ax (as we are concerned by "w1)?!’

2. Why cannot we simply say that 7ptn 72173 accomplishes® that even though it is
1P ¥, nevertheless the original 7P (albeit with a Xmy) is sufficient to allow
them to eat 712377 *w7p and be 093 Rw1?!

nam WPk (since we are not that strict in limiting 0°173 from eating 11am *w7p). See ‘Thinking it over’ # 1.
> See “Thinking it over’ # 2.
® See footnote # 4.
! See 7200 "o YT MIDWA.
¥ See footnote # 5.
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